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 1: public static int binarySearch(int[] a, int key) { 
2:  int low = 0; 
3:  int high = a.length - 1; 
4:  
5:  while (low <= high) { 
6:   int mid = (low + high) / 2; 
7:   int midVal = a[mid]; 
8: 
9:   if (midVal < key) 
10:    low = mid + 1; 
11:   else if (midVal > key) 
12:    high = mid - 1; 
13:   else 
14:    return mid; // key found 
15:  } 
16: return -(low + 1); // key not found. 
17: }  

ArrayIndexOutOfBoundsException 
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1. R = D / 2; 

2. A = R * R * PI; 

3. C = R * PI; 
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1. R = D / 2; 

2. A = R * R * PI; 

3. C = R * PI; 
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s0 j( ) =
a11 j( )

a11 j( ) + a01 j( )( ) * a11 j( ) + a10 j( )( )

apq i( ) = i xij = p ei = q{ }
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fitness(P) = wpos * t t PosTC pass(P,t){ } + wneg * t t NegTC pass(P,t){ }

fitness(P) = t t NegTC PosTC pass(P,t){ }
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